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Question 1.
a) Solve 3(2x -5a)+4b=4x -2 for x
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b) Determine whether the following equation is an identity, a
conditional equation, or a contradiction. Give the solution set.
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Question 2,

If the length of each side of a square is decreased by 4 cm, the perimeter of
the new square is 10 ¢m more than half the perimeter of the original
square. What are the dimensions of the original square?
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Question 3,

Find the sum of the solutions of the equation x ~+/5x +6 =6
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Question 4. Solve (x + l)§ -3(-\‘ + 1)—5 +2=0,
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Question 5. Solve the rational inequality, and write the solution set in
interval notation.
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Question 6.

Solve |7x - ?-l' 4>1 | write the solution set in interval notation.
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Question 7.

Let M be the midpoint between the points(2x,-7x ) and (=2x ,~4x ), find the
distance between M and (2x,-7x) wherex <0,
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Question 8.

Find the center and the radius of the circle 2x*+2y*-8x +4y =1
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